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( Statistical Methods for Economics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
Goq ATNA Teq fudl
(a) What is statistic?
aforfe 2
() What is the first moment about the

mean?
T4 22w g 2

(c) Define probability.

sgifder el
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(2)

(d) When are the two events said to be
mutually exclusive?

@l qo1 WO Naefas el 9f# cprar 29 2
(e) What is random variable?
e 5o 2

() Is binomial distribution a distribution of
continuous random variable?

faom 3% wifRifvre AMfe Ho1F9 I G 2

(g9 What is the shape of the normal curve?
TR (TR SIPMS PCTPA1 2

(h) What is sample?
sfforf 2

(i) What is correlation?
REGvERT

() Mention one property of random
sample.
e efomfa abl of Ty 41 |

2. Answer the following questions : 2x5=10

e Z4Arad Teq fra

(a) Distinguish between population and
sample.
Taf8 o eifmfa e sfief T |
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(3)

(b) State the addition theorem  of
probability.

ST e Sgh! SEd w4 |

() Mention two properties of the uniform
distribution.

RG] YB1 4 TTErd 41 |

(d) What is covariance?

o 2

(e) What is stratified random sampling?

Ao s Afer 2

3. Answer any four of the following questions :
5x4=20

oo g R e SiReR T il :

(a) Prove the multiplication theorem of
probability.

Sgfaer +[q Sgeo! 2 A |

(b) A random variable X assumes only three
values -1, 0, 1 with equal probabilities.
Find E (X).
g5 IR TIP x @ wig fofer ww -1, 0, 1
o, Wmﬁ@wmmw@n
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(4)

(c) Explain the concept of distribution
functions for jointly distributed random

variables.

Aeeie Ve AYRF TEPT IDA  FoIq
YIRETCH! IR 4 |

(d) Mean of a binomial distribution is 4 and
its standard deviation is +/3. Obtain the

values of n, p and gq.
faom 3B GO/ W 4 oF e [oew /3.
n, p SIF g I T Sferear|

(e) Explain Bayes’ rule.
&S T 9 91 |

(f/ Explain the multistage random
sampling. '

IZTI Ao AT R 4 |

4. Answer any four of the following questions :
10x4=40

o4 gz R i viRbR Teg fran

(a) Derive the mean and variance of
- binomial distribution. 5+5=10

f2e% 3%e7q M1 e 2pTRe e |
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(5)

(b) Define probability mass function (pmf).
Dernive Poisson distribution as a limiting
case of binomial distribution.

Fwider ®1 ¥E4 (pmf)a @ fia ) fGew
I3 NS a1 Bo1ee s abe Sfaaar |

(c) Discuss the properties of normal
distribution.

PO IGAT LAY ST 347 |

(d Find Karl Pearson’s  correlation
coefficient from the following data and
interpret the result : 8+2=10

o] ST 9 FI IO TR BIRP
Threqr SF Foree IR 41

1s 16 17 18 19 20
Yy : 8 75 60 40 30 20

(e) An unbiased die is thrown. Find the
probability that the number obtained is
either an even number or a multiple of

three or both.

Ao qoaf GO wleredr e Ol
FRATICHl @B YW WA A 3Y @ A FCAIX
@R TSI Sferet |
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(6)

()  What are the principal steps in a sample
survey? Discuss.

ot QP 24 T f& @9 =@
¥

(g) Mention the difference between mean
deviation and standard deviation.
Mention two properties of standard
deviation. Calculate mean and standard
deviation from the following data :

2+2+6=10
oG Avew W WA oo Wed A1 TeEy

41 | T oo 751 f Sead 30 | oo el
w7 o SR e wre A Ko efd

¥4
Age (T0) Persons (I%)

0-10 | 15
10-20 15
20-30 23
3040 22
40-50 25
50-60 10
60-70 | 5

70-80 10
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(7))

(h) Define the following with the help of one
example each :

orEcd QO WA HS fwd(A14q FeE
faq

() Sample space
aifv{ AR

(ii) Conditional probability
TS FFI!

(i) Independent events

Fog oAl

(i A bag contains 5 white and 4 black
balls. Two balls are drawn at random
one after the other without replacement.
Find the probability that both balls
drawn are black. 6+4=10

51 @ e 5 B N AqF 4 O Fel T AR
Wﬁ:ﬂ%wﬁﬁwﬁaﬁmmzﬁ
= TR TR | D T A @ T
facfa 1 |

* ok k
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